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Dependent t-test - uuvod

Tp
i = T
gp//M

8p = '\." SR

In the formula for 8, £ p are the individual difference scores and should not be confused with & p, which is the

mean of the difference scores.

Predpoklady pouziti:

The sampling;distribution is normally distributed. In the dependent t-test this means that the
sampling (distribution of the differences /between scores should be normal, not the scores themselves.
Data are measured at least at the interval level,
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Srovnani dvou primerd

Cohenovo d —

Guess
Display Options This app will show you a graph of simulated data with a random number of observations in each of two groups and a random effect size. The effact size will be between -3 and 3, your job is to guess the size of the effect.
B violin Plot How much larger is group B than group A? Submit Guess Simulate a new dataset
My effect size (d) guess
BoxPlot = [o] 3
B Foints . .

his app is not storing your data
The graph below shows 100 observations in each group. Your guessmg performance

6

group


http://shiny.psy.gla.ac.uk/guess/?fbclid=IwAR2EqXgySl7MDoDegYjE80vI1qFMa5qgEz1IAeXRXWv128x9y3jQlxsEHFk
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Independent t-test - uvod

Calculation of the observed t-value for an independent t-test is similar to the dependent t-test, but involves

slightly different formulas. The t-value is now

where = and £ are the mean intelligence gains for group 1and group 2, respectively. se, is the pooled standard

error, which is equivalent to

[var, vars
i =

V n T

,S‘E‘P —

Predpoklady pouziti:

The sampling|distribution is normally distributed.

Data are measured at least at the interval level,

Homageneity of variance.

Scores are independent (because they come from different people).
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Independent t-test - Cohen‘s d

where £ and &, are the mean intelligence gains for group 1 and group 2, respectively, and se,, is the pooled
standard error.

The formula for Cohen's d for independent t-tests is
Ty — Io

sdp

d=

where sdp is the pooled standard deviation, which in turn is equal to

-Sij]_ ‘} Sdg
Sdp = T

where sd; and sd» are the standard deviations of the first and second groups, respectively.
























One-Way ANOVA

Summary Table

One-Way ANOVA Table

An ANOVA table is often used to record the sums of squares and to
organize the rest of the calculations. Format for the ANOVA Table:

Source of df
Variation

SSB
Between k-1 MSB =
Samples k-1

Within
Samples
Total SST =
SSB+SSW

® The sums of squares and the degrees of freedom must check
SS(factor) + SS(error) = SS(total) or SSB + SSW = SST
df(factor) + df(error) = df(total) or df(between) + df(within) = df(total)










One-Way ANOVA

F-test a F-Ratio
\elikost acinku

SS¢+MS,,
library (=) library( )
etaSquared(@anova_wm, type'= 2,
anova = FALSE) anova_wm?2 <-|{Im(ig~ condition2, data =ANOVA)

r2(@nova_wm2,n = NULL)


https://cran.r-project.org/web/packages/lsr/lsr.pdf
https://cran.r-project.org/web/packages/sjstats/sjstats.pdf

ONEDOES NOT SIMPLY FIND

PARTIA'OMECA SOUARED IN SPSS.
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